

$$\begin{aligned}
& e^{f_{\theta,1}[\lambda]} \in \text{QU}[y, x] f_{1,xy}[\lambda] + \langle\langle 25 \rangle\rangle + \\
& \text{QU}[z] \left(e^{-2\alpha[i] - 2\alpha[j] + \beta[i] + \beta[j] + f_{\theta,1}[\lambda]} \in f_{\theta,x}[\lambda]^2 f_{1,xy}[\lambda] - e^{-2\alpha[i] - 2\alpha[j] + \beta[i] + \beta[j] + f_{\theta,1}[\lambda]} s \in f_{\theta,x}[\lambda]^2 f_{1,xy}[\lambda] + \right. \\
& e^{\alpha[i] + \alpha[j] - 2\beta[i] - 2\beta[j] + f_{\theta,1}[\lambda]} \in f_{\theta,x}[\lambda] f_{\theta,y}[\lambda]^2 f_{1,ay}[\lambda] - \\
& e^{\alpha[i] + \alpha[j] - 2\beta[i] - 2\beta[j] + f_{\theta,1}[\lambda]} t \in f_{\theta,x}[\lambda] f_{\theta,y}[\lambda]^2 f_{1,ay}[\lambda] + \langle\langle 18 \rangle\rangle + \\
& e^{-\alpha[i] - \alpha[j] - \beta[i] - \beta[j] + f_{\theta,1}[\lambda]} \in f_{\theta,x}[\lambda] f_{\theta,y}[\lambda] f_{1,zz}[\lambda] - e^{-\alpha[i] - \alpha[j] - \beta[i] - \beta[j] + f_{\theta,1}[\lambda]} s \in f_{\theta,x}[\lambda] f_{\theta,y}[\lambda] f_{1,zz}[\lambda] - \\
& \left. e^{-\alpha[i] - \alpha[j] - \beta[i] - \beta[j] + f_{\theta,1}[\lambda]} \in f_{\theta,z}[\lambda] f_{1,zz}[\lambda] + e^{-\alpha[i] - \alpha[j] - \beta[i] - \beta[j] + f_{\theta,1}[\lambda]} s t \in f_{\theta,z}[\lambda] f_{1,zz}[\lambda] \right)
\end{aligned}$$